Svenska Bridgeférbundet
Simultantavling Dagtid 2017-10-10

Partavling, 50 bord, 99 par. Antal brickor: 24. Medel: 1151.7. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb

1 E14 1695.0 73.57 Junot Delcomyn - Ann-Charlotte Lundin 85783 5727 Hollvikens BK - Malm6 Dam BK

2 F2 1587.0 68.88 Hans Ohrling - Yngve Frélander 25090 14452 Norrorts Bridge - Akersberga BS

3 Cl1 1581.0 68.62 Hernando Slottsdahl - Rolf Forsberg 8996 13471 ABB BK - Fagersta BS

4 B2 1557.0 67.58 Per-Enar Hedlund - Bengt Lund 31936 3676 Arvika BS

5 B8 1556.0 67.53 Sven Eliasson - Gerd Langeland 85192 54512 Arvika BS

6 C19 1553.0 67.40 Sven-Erik Viberg - Nisse Hedin 85851 45008 VBS Aros

7 E15 1497.0 64.97 Christer Holgersson - Lennart Molander 58176 94176 Ljunghusens BK

8 B3 1481.0 64.28 Roland Dahiman - Bo Ekberg 3666 41638 Arvika BS

9 D1 1475.0 64.02 Kjell Andersson - Séren Forsmark 9540 81896 Skellefted BK

10 C17 1463.0 63.50 Nils Almgren - Bengt Ohman 3959 18554 ABB BK - VBS Aros

11 A10 1435.0 62.28 Bengt Bellander - Leif Thuresson 903 1550 Véxjobridgen

12 C18 1421.0 61.68 Gunilla Nilsson - Henrik Nilsson 11781 10249 VBS Aros - ABB BK

13 F9 1420.0 61.63 Erik Lindgren - Arne Johansson 60277 48275 Akersberga BS - BK S:t Erik
14 E13 1382.0 59.98 Peter Oberg - Maud Meyerson 41252 60370 Hollvikens BK

15 B11 1354.0 58.77 Ingmar Andersson - Ard Kant 11748 93057 Arvika BS

16 F5 1349.5 58.57 Sven Mellgvist - Jan Carlson 50225 32223 Akersberga BS - BK S:t Erik
17 B6 1332.0 57.81 Krister G Karlsson - Britta Ronning 3497 60185 Arvika BS

18 E17 1331.0 57.77 Ake Kjellkvist - Barbro Oberg 41256 59441 Ljunghusens BK

19 C20 1330.0 57.73 Allan Persson - Stig Sundell 87797 32539 VBS Aros - ABB BK

20 C22 1322.0 57.38 Kerstin Ekman - Tor Ekman 90746 3963 ABB BK - VBS Aros

21 C15 1307.0 56.73 Jennifer Falck-Jorgensen - Britt Lindberg 7851 15373 VBS Aros

22 E5 1288.0 55.90 Barbro Roénngard - Rune Rénngard 61177 61178 Ljunghusens BK

23 B14 1287.0 55.86 Gunvor Mikaelsson - Solveig Odefjord 43961 43959 Arvika BS

24 Cl14 1275.0 55.34 Boris Johansson - Barbro Wrangskog 40752 22753 VBS Aros

25 A8 1269.0 55.08 Bogdan Nowacki- Ronnie Lindahl 15806 85970 Vaxjobridgen

26 D4 1260.0 54.69 Gosta Enqvist - Olle Ivert 61919 56942 Skelleftea BK

26 F4 1260.0 54.69 Brita Vasthagen - Ulla Holm 61232 54331 Akersberga BS

28 A6 1256.0 54.51 BengtBengtsson - Goran Emvall 11264 80288 Véaxjobridgen

29 E10 1240.0 53.82 Siv Nilsson - Britt Skog 85560 94184 Ljunghusens BK

30 F10 1233.0 53.52 Margareta Sjogren - Maja Tell 59271 61230 BK S:t Erik - Akersberga BS
31 F16 12295 53.36 Roger Jaderberg - Arne Ljunggren 54330 60278 Akersberga BS

32 A5 1217.0 52.82 Bertil Jonsson - Asa Sundberg 23254 56115 Vaxjobridgen

33 F15 1214.2 52.70 Hans Ahlstrom - Sten Frykholm 59983 62363 Akersberga BS

34 C4 1208.0 52.43 Lennart Undvall - Ingegerd Undvall 35994 35995 VBS Aros

35 C5 1206.0 52.34 BengtAxelsson - Borje Axelsson 6807 92822 VBS Aros

36 C24 1194.0 51.82 Lars Harrsjo - Paul Madsen 53380 53379 VBS Aros

37 E18 1189.0 51.61 Ingrid Wickstrom - Ulla Olsson 26698 39952 Ljunghusens BK

38 C12 1177.0 51.09 Monica Eriksson - Lotta Blylod 3999 60069 FagerstaBS

39 C10 1176.0 51.04 Marta Gynt - Ulla Lénngvist 92328 85366 VBS Aros

40 D6 1173.0 50.91 Mats Lundquist - Gerry Lindh 9694 56944 Skellefted BK

40 B9 1173.0 50.91 Eva Silvén - Eva Soderquist 78302 80255 Arvika BS

42 E12 1170.0 50.78 Inger Soderstrom - Monica Heinel Foerster 44775 56921 Bridgeklubben 2 Kldver - BK Bridgehuset
43 F8 1169.5 50.76 Gullevi Feldt - Clas Hero 2229 57611 Akersberga BS

44 A2 1161.0 50.39 Bernt Linnér - Karl-lIngmar Carlsson 6812 88108 Véaxjobridgen

44 B16 1161.0 50.39 Marit Bore - Rolf Jérgensen 48075 54726 Arvika BS

46 C28 1153.0 50.04 Nils Andersson - Gunnar Muhr 3543 3977 ABBBK

47 F6 1152.0 50.00 Britt Edlund - Ulla Ekstrém 10455 62206 Akersberga BS

48 C7 1151.0 49.96 Ragnar Bergquvist - Bittan Bergqvist 43430 43429 VBS Aros

49 E16 1149.0 49.87 Gerda Sevonius - Christina Persson 94180 58590 BS Oden - Ljunghusens BK
50 F17 1147.6 49.81 Irmela Buchta - Helga Gauert 29826 60280 Akersberga BS

51 C29 1134.0 49.22 Goran Schultz - Gudrun Schultz 88966 92348 VBS Aros

52 C11 1131.0 49.09 Geije Johansson - Mats Lévgren 50904 82213 VBS Aros

53 E20 1130.0 49.05 Eva Tamén - Britt-Marie Svensson 94181 94183 Ljunghusens BK

54 E3 1129.0 49.00 Bo Wabhlin - Anita Wahlin 42917 42916 Ljunghusens BK

55 C21 1122.0 48.70 Per Hammarqvist - Ove Jansson 41166 87087 VBS Aros

56 E8 1120.0 48.61 Nils Fornek - Yvonne Fornek 39437 39436 Ljunghusens BK

57 C6 1118.0 48.52 Lars Hedgvist - Dilip Chawla 47282 26001 VBS Aros

58 E19 1112.0 48.26 Ingvar Andersson - Torbjorn Johansson 61257 60360 Ljunghusens BK

59 E4 1107.0 48.05 Grete Derand - Ulla Jerre Rundcrantz 25475 30769 BK Bridgehuset - Ljunghusens BK
60 B7 1106.0 48.00 Ann-sofi Engelin - Margareta Skoog 60187 60184 Arvika BS

61 C13 1104.0 47.92 Marianne Bejgren - Mona Eriksson 32785 83015 VBS Aros

62 C3 1103.0 47.87 BengtHjalmarson - Sven-Ake Dahl 82942 18727 VBS Aros

62 A9 1103.0 47.87 Inger Wisme - Ingegerd Willhammar 19781 14897 Vaxjobridgen

64 F7 11029 47.87 Gunilla Ostervall - Lena Bjon-Aaltonen 9131 2602 Akersberga BS

65 A7 1102.0 47.83 Gun Hammarstedt - Bo Holmberg 19791 88724 Vaxjobridgen

66 C23 1096.0 47.57 Bjorn Persson - Ragnar Wingard 51549 34593 VBS Aros

67 C9 1094.0 47.48 Agneta Sima - Svante Sima 55217 55216 VBS Aros

68 Al 1085.0 47.09 Inge Magnusson - Leif Johansson 7398 945  Véxjobridgen

69 A4 1084.0 47.05 Bengt Goransson - Jan-Olof Hjelmberg 36408 39923 Vaxjobridgen

70 F18 1081.1 46.92 Gunvor Blixt - Bertil Blomqvist 60279 52968 Akersberga BS

71 E7 1079.0 46.83 Lars Hermann - Sally Winther 25496 93003 Ljunghusens BK - Bridgeklubben 2 Kléver
72 D2 1070.0 46.44 Karl-Erik Johansson - Britt Ahman 9680 9677  Skellefted BK

73 B15 1059.0 45.96 Krister J Karlsson - Inger Nilsson 57098 57105 Arvika BS

74 F1 1054.9 45.79 Ingalill Carlberg - Ulla Lundh 57810 60275 Akersberga BS

75 D5 1054.0 45.75 Eva-Britt Blomkvist - Hikan Harnesk 9525 56945 Skelleftea BK

76 C30 1016.0 44.10 Yngve Viktorsson - Olle Backlund 30885 51798 VBS Aros

77 F13 1015.6 44.08 Sture Bjorklund - Sigrid Cornils 60089 60088 Akersberga BS

78 B10 1012.0 43.92 Lars-Olov Fisk - Elisabeth Mossberg 43956 39545 Arvika BS

79 B4 1008.0 43.75 Karl-Axel Rudander - Torbjérn Lindén 47697 46859 Arvika BS

80 C26 999.0 43.36 Kalle Danielsson - Borje Nilsson 37250 48418 VBS Aros

81 C2 973.0 42.23 Hakan Ekwall - Barbro Nordstrém 56908 10851 VBS Aros

82 F11 956.7 41.52 Ulf Tragardh - Klas Holm 60283 17148 Akersberga BS

83 E1 931.0 40.41 Christer Karlstromer - Ulla-Lena Karlstrémer 48395 48394 Ljunghusens BK

84 E11 927.0 40.23 Ulf Hansson - Elna Hansson 39625 39626 Ljunghusens BK

85 Bl 901.0 39.11 Eva Eriksson - Bertil Hogberg 60186 41294 Arvika BS
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86 C25 894.0 38.80 Mona Ellerstedt - llse Backlund 30891 34222 VBS Aros
87 B13 883.0 38.32 LeilaOsterholm - Barbro Perry 43962 53464 Arvika BS
88 E2 881.0 38.24 Stephan Palmstierna - Helle Palmstierna 46325 52230 Ljunghusens BK
89 D3 880.0 38.19 Lars-Goéran Blomkvist - Dorothy Shaplin 9545 43191 Skellefted BK
89 Cl16 880.0 38.19 Per Forsberg - Margot Brown 36060 24991 VBS Aros
91 F14 877.1 38.07 Irma Héagerstedt - Jan Skaring 33220 59955 Bridgeklubben Karlskrona - Norrorts Bridge
92 E6 861.0 37.37 Bodil Lagergren - Marie Alfreds-Ohlsson 94173 45656 Ljunghusens BK
93 E9 8220 35.68 Tord Almgren - Rolf Skog 94166 94185 Ljunghusens BK
94 C8 820.0 35.59 BibiBjorck - Inger Johansson 25077 36853 Staffanstorps BK - VBS Aros
95 A3 808.0 35.07 GunillaBolin - Kjell Bolin 27229 28732 Vaxjobridgen
96 Bl12 795.0 34.51 EilaNilsson - Mia Stuart-Beck 43952 63146 Arvika BS
97 B5 767.0 33.29 Marta Mannerstedt - Annika Klemets 63148 63141 Arvika BS
98 F3 703.0 30.51 Karin Elowson - Maud Norin 60282 17280 Akersberga BS
99 C27 559.0 24.26 Inger Borgstrom - Lena Gunnarson 24972 24974 VBS Aros
1 4 E65 Basta kontrakt 2 & KKn9 Basta kontrakt 3 4 Kn107 Basta kontrakt
Nord v94 3NT S =400 Ost vEK 2NT S =120 Syd v EKn108 24 S =110
Ingen + E652 NS ¢ E743 ov + EK63
#10642 & ¢ v & NT D954 & ¢ v & NT #96 & ¢ v & NT
4DKn9742 48 N9 8978 4ED107 5 N7 7588 4 KD3 ~E9 N57 7 86
vKn7 v K862 S98979 v 94 vKnl106532 S 7 7 5 8 8 vKD92 v643 S577 86
¢+ KD4 410983 045 454 + K98 ¢ 1065 06 57 45 ¢54 410987 085655
«KD #9753 V45454 #E1062 #K73 V66755 #D1074 #EKn83 V85655
4 K103 486432 486542
vED1053 v D87 v75
¢+ Kn7 ¢ DKn2 ¢ DKn2
#EKn8 #Kn8 *K52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C15 C16 34DV-4 v9 800 96.0 0.0|C19 C21 3NDV-4 vK 800 96.0 0.0| E6 E20 3vV-3 4J 300 95.0 1.0
F7 F3 24V-4 99 200 93.0 3.0| E7 E9 24V-3 vK 150 92.0 4.0|C10 Cl1l1 3vV-3 4J 300 95.0 1.0
F14 F8 34 V-4 v4 200 93.0 3.0|Cl15 C16 INN+2 v2 150 920 40| D5 D4 3#V-2 +¢A 200 90.0 6.0
D5 D2 INS+2 «Q 150 810 150|E19 E2 INN+2 &5 150 92.0 40| B6 B13 INO-2 #2 200 90.0 6.0
D6 D1 3NV-3 v9 150 81.0 15.0| A2 A4 24 N+1 v 140 86.0 10.0| A7 A8 2vV-2 43 200 90.0 6.0
B8 B9 2NS+1 «Q 150 81.0 150| D4 D3 24 N+1 vJ 140 86.0 10.0|C15 C5 24 S+2 &4 170 85.0 11.0
C9 C10 24 V-3 v9 150 81.0 150| B8 B9 24 N+1 &3 140 86.0 10.0|C19 C27 14 S+3 &T 170 85.0 11.0
C13 C22 24 V-3 v9 150 81.0 150| D5 D2 INN+1 3 120 77.0 190 D1 D3 24 S+1 ¢5 140 80.0 16.0
F15 F2 24 V-3 v9 150 81.0 150 A7 A8 2NN= 3 120 77.0 19.0| C3 Cl 24 S+1 &7 140 80.0 16.0
E16 E8 24 V-3 v9 150 81.0 15.0| A9 Al 2NN= v5 120 77.0 19.0|C12 C24 24 S+1 5 140 80.0 16.0
C18 C27 INS+2 43 150 810 150|F10 F5 INS+1 #3 120 77.0 19.0| A2 A4 24 S= +4 110 72.0 24.0
C19 C21 2NS+1 &7 150 81.0 150 |E16 E8 INN+1 vJ 120 77.0 19.0|C14 C23 14 S+1 +5 110 72.0 24.0
E19 E2 14V-3 v9 150 81.0 15.0|C18 C27 2NS= T 120 77.0 19.0| E14 E7 14 S+1 vK 110 72.0 24.0
D4 D3 2NS= 4 120 65.0 31.0| C5 C20 24 N= vl] 110 63.0 33.0|E17 E5 14 S+1 T 110 72.0 24.0
C5 C20 2NN= 48 120 65.0 31.0| D6 D1 24 N= +6 110 63.0 33.0C20 C22 24 S= vK 110 72.0 24.0
Cl1 C23 2NN= T 120 65.0 31.0| B7 B10 24 N= K 110 63.0 33.0| C6 C21 3#V-1 +¢A 100 57.0 39.0
E12 E15 2NN= 48 120 65.0 31.0| F7 F3 24 S= v3 110 63.0 33.0| F8 F4 INO-1 +Q 100 57.0 39.0
F13 F1 2NS= 42 120 65.0 31.0 | A10 A5 24 N= v5 110 63.0 33.0| C9 C29 2vV-1 +¢A 100 57.0 39.0
C29 C8 INN+1 48 120 65.0 31.0| B11 B6 24 N= «3 110 63.0 33.0| E9 E16 INO-1 42 100 57.0 39.0
F9 F17 2v S= 49 110 57.0 39.0| F13 F1 24 N= 5 110 63.0 33.0|E13 E2 2vV-1 ¢A 100 57.0 39.0
C26 C7 2v S= ¢+K 110 57.0 39.0(C14 C4 24 N= «K 110 63.0 33.0|F15 F3 1vV-1 +A 100 57.0 39.0
E4 E17 24 V-2 v9 100 46.0 50.0| B5 B12 1aDV-1 &5 100 50.0 46.0|B16 B2 2vV-1 ¢A 100 57.0 39.0
F6 F16 14 V-2 v9 100 46.0 50.0| C6 C3 4vDO-1 «Q 100 50.0 46.0|C16 C17 2v V-1 #9 100 57.0 39.0
E7 E9 24 V-2 ¢5 100 46.0 50.0 |[E11 E3 2NV-2 ¢3 100 50.0 46.0|C18 C30 INO-1 +7 100 57.0 39.0
A9 Al 24V-2 v9 100 46.0 50.0 B14 B3 4v O-2 &8 100 50.0 46.0|C28 C2 INO-1 44 100 57.0 39.0
B13 B4 14 V-2 v9 100 46.0 50.0(C29 C8 2v O-2 42 100 50.0 46.0| F9 F14 1v N-1 4A -50 45.0 51.0
B15 B2 24 V-2 v4 100 46.0 50.0( A3 A6 INN= v6 90 42.0 540 F16 F7 2¢ N-1 &A -50 45.0 51.0
E18 E10 24 V-2 v9 100 46.0 50.0 | E13 E1 INN= v2 90 42.0 540(B14 B5 1lv V= ¢ A -80 42.0 54.0
E20 E5 24 V-2 v9 100 46.0 50.0 | C24 C25 INN= 45 90 42.0 540 E1 E15 INO= 48 -90 32.0 64.0
C24 C25 24 V-2 v9 100 46.0 50.0 [C11 C23 2v O-1 +¢Q 50 37.0 59.0| C7 C4 24V-= ¢A -90 32.0 64.0
E1l E3 INN= 48 90 36.0 60.0|C13 C22 2v V-1 3 50 37.0 59.0| A9 Al INO= a4 -90 32.0 64.0
A10 A5 14 V-1 v9 50 30.0 66.0| C2 Cl12 2¢ N-1 45 -100 28.0 68.0| B9 B10 2& V= sJ -90 32.0 64.0
F10 F5 24 O-1 9 50 30.0 66.0| F6 F16 INN-1 ¥5 -100 28.0 68.0| A10 A5 INV= 4] -90 32.0 64.0
B14 B3 14 V-1 v4 50 30.0 66.0| F9 F17 2# N-1 45 -100 28.0 68.0|E12 E4 INO= 2 -90 32.0 64.0
B16 Bl 24 V-1 v9 50 30.0 66.0| F14 F8 3NN-1 vJ -100 28.0 68.0(C13 C25 INO= 46 -90 32.0 64.0
C28 C1 24V-1 ¥9 50 30.0 66.0 B15 B2 24 N-1 45 -100 28.0 68.0(B15 B4 INO= *2 -90 32.0 64.0
A2 A4 2NN-1 T -50 17.0 79.0(B16 Bl INN-1 v2 -100 28.0 68.0({C26 C8 INO= a4 -90 32.0 64.0
C2 C12 2NN-1 8 -50 17.0 790 F18 F4 2¢ N-1 43 -100 28.0 68.0| A3 A6 3&V= ¢ A -110 17.0 79.0
B5 B12 INS-1 49 -50 17.0 79.0( C9 C10 2v O= *] -110 14.0 820| D6 D2 3#V= ¢A -110 17.0 79.0
B7 B10 2NS-1 a7 -50 17.0 79.0 | E12 E15 2v O= a4 -110 14.0 82.0| B8 Bll 2&V+1 +A -110 17.0 79.0
B1l B6 3NN-1 42 -50 17.0 79.0(B13 B4 2v O= %8 -110 14.0 82.0| F10 F17 3& V= ¢ A -110 17.0 79.0
E13 E1 INN-1 438 -50 17.0 790 F15 F2 2v O= *] -110 14.0 82.0|B12 B7 24V +1l +¢K -110 17.0 79.0
Cl4 C4 INN-1 a8 -50 17.0 790 E20 E5 2v O= 8 -110 14.0 82.0|E19 E3 2&#V+l1 +A -110 17.0 79.0
C30 C17 3v S-1 «K -50 17.0 79.0({C26 C7 2v O= ] -110 14.0 82.0| B1 B3 INO+1 ¢J -120 5.0 91.0
A3 A6 2NN-2 8 -100 6.0 90.0[C30 C17 2v O= +Q -110 14.0 82.0| E8 E10 INO+1 42 -120 5.0 91.0
C6 C3 3NN-2 a8 -100 6.0 90.0| E6 E14 3v O= 48 -140 5.0 91.0 | E11 E18 INO+1 438 -120 5.0 91.0
A7 A8 2NN-2 48 -100 6.0 90.0|{C28 C1 2¢v O+1 #J -140 5.0 91.0|F11 F6 INO+1 48 -120 5.0 91.0
E6 E14 2NS-3 «Q -150 1.0 95.0| E4 E17 2v S-2 4A -200 1.0 95.0| F13 F2 INO+1 &2 -120 5.0 91.0
F18 F4 4v S-3 ¢K -150 1.0 95.0 | E18 E10 2v S-2 #A 200 1.0 95.0|F18 F5 INO+1 43 -120 5.0 91.0
- F11 39.9 - F11 399| F1 - 44.0
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4 D6 Basta kontrakt 5 a7 Basta kontrakt 6 4 EK9753 Basta kontrakt
Vast v 98732 5NTV =-660 Nord vED6 INTN =90 Ost v D654 4e S =420
Alla ¢ 8754 NS ¢ E1097 ov ¢ 87
*86 & ¢ v & NT #Kn10986 & ¢ v & NT +10 & ¢ v & NT
« EK10974 #Kn53 N25322 4543 « DKn986 N76767 482 4 DKn10 N7 97 109
vK v DKn104 S$25322 v K532 vKnl0 S76767 vK10832 vE97 S7 97 109
* K2 ¢ EKn9 O 118 9 1111 ¢ DKn842 ¢ K3 057676 ¢+ 94 ¢ KKn6 06 36 34
#KKn93 «D105 vV 118 9 1111 *4 #EKD3 V57676 #Kn432 #E985 V63534
482 4 EK102 464
v E65 v 9874 vKn
+ D1063 ¢ 65 ¢ ED10532
*E742 »752 *KD76
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D6 D2 3NO-1 +6 100 92.0 4.0| C1 C13 34DO-3 ¢6 500 95.0 1.0| C1 C13 3vyDO-4 46 1100 96.0 0.0
E12 E4 54 V-1 #8 100 92.0 4.0| A8 Al 44DO-3 #2 500 95.0 1.0|A10 A6 3vyDV-2 4Q 500 93.0 3.0
F15 F3 44 V-1 #8 100 92.0 40| D1 D5 44 0-3 6 150 87.0 9.0|F13 F3 3vyV-5 4A 500 93.0 3.0
F16 F7 44 V-1 #8 100 92.0 4.0| D6 D3 44 O-3 #2 150 87.0 9.0|E14 E8 3NN= v7 400 90.0 6.0
C19 C27 44 V-1 #8 100 92.0 4.0| A9 A2 44 0-3 +¢6 150 87.0 9.0|B13 B8 2v0-3 ¢A 300 85.0 11.0
Bl4 B5 2v O+1 %4 -140 86.0 10.0|C14 C25 34 O-3 ¢6 150 87.0 9.0|Cl14 C25 3vy O-3 44 300 85.0 11.0
F8 F4 34 V+l 48 -170 84.0 12.0|F17 F11 3NV-3 &J 150 87.0 9.0|Cl7 C18 3v O-3 46 300 85.0 11.0
E9 E16 24 V+3 v2 -200 80.0 16.0| E20 E7 44 O-3 ¢5 150 87.0 9.0|C28 C3 3v0O-3 46 300 85.0 11.0
E1l E18 34 V+2 48 -200 80.0 16.0|C15 C24 INS+1 ¢2 120 79.0 17.0| C4 C2 3#0-2 vJ 200 76.0 20.0
E1l7 E5 24 V+3 48 -200 80.0 16.0{C28 C3 INN+1 A 120 79.0 17.0| A8 Al 2v0-2 46 200 76.0 20.0
D1 D3 44 V= *8 -620 70.0 26.0|E14 E8 2#N+1 T 110 74.0 22.0|B10 B11 2y V-2 &A 200 76.0 20.0
B9 B10 44 V= *8 -620 70.0 26.0|C17 C18 24 N+1 vJ 110 74.0 22.0|C19 C30 3v O-2 44 200 76.0 20.0
F10 F17 44 V= &8 -620 70.0 26.0|C20 C27 2#N+1 ¢3 110 74.0 220|E20 E7 3v O-2 ¢A 200 76.0 20.0
F11 F6 44 V= *8 -620 70.0 26.0| B2 B4 34 O-2 ¢6 100 57.0 39.0| F17 F11 24 N+2 &5 170 70.0 26.0
E13 E2 44 V= *6 -620 70.0 26.0| D2 D4 INV-2 «J 100 57.0 39.0| A3 A5 2NS+1 v2 150 68.0 28.0
Cl18 C30 44 V= *4 -620 70.0 26.0| A4 A7 2NO-2 &J 100 57.0 39.0| B1 B5 24 N+1 vA 140 60.0 36.0
C28 C2 4a V= v9 -620 70.0 26.0| E4 E19 2NV-2 #J 100 57.0 39.0| D1 D5 34 N= «Q 140 60.0 36.0
Bl B3 44 V+l1 v9 -650 43.0 53.0| E6 E17 3NO-2 T 100 57.0 39.0| E4 E19 24 N+1 vA 140 60.0 36.0
E1l E15 44 V+1 8 -650 43.0 53.0| C7 C22 3«4 O-2 v9 100 57.0 39.0|C11 C12 24 N+1 &A 140 60.0 36.0
A3 A5 44 V+1 &6 -650 43.0 53.0|B10 Bl11 44 O-2 ¢6 100 57.0 39.0| F14 F10 24 N+1 vA 140 60.0 36.0
A4 A7 44 V+1 &8 -650 43.0 53.0|C10 C29 34 O-2 &5 100 57.0 39.0|C15 C24 34 N= vA 140 60.0 36.0
B6 B13 44 V+1 48 -650 43.0 53.0|E13 E3 2NV-2 &J 100 57.0 39.0 | E18 E12 34 N= A 140 60.0 36.0
C6 C21 44 V+1 8 -650 43.0 53.0|E15 E2 2NV-2 #J 100 57.0 39.0| B2 B4 2¢ S+2 vK 130 48.0 48.0
E6 E20 44 V+1 v2 -650 43.0 53.0|C16 C6 44 O-2 #2 100 57.0 39.0| F4 F15 2¢ S+2 v2 130 48.0 48.0
C7 C4 44 V+1l 6 -650 43.0 53.0|C19 C30 24 O-2 +¢6 100 57.0 39.0| D6 D3 3¢ S+1 8 130 48.0 48.0
A8 Al 54 V= v2 -650 43.0 53.0|C21 C23 24 O-2 v9 100 57.0 39.0| F9 F5 3¢ S+1 48 130 48.0 48.0
B8 Bll 44 V+1 v9 -650 43.0 53.0|C26 C9 24 O-2 ¢6 100 57.0 39.0|E15 E2 3¢ S+1 48 130 48.0 48.0
E8 E10 44 V+1 8 -650 43.0 53.0| F2 F1 INS= 43 90 42.0 540| E1 E5 3¢ S= «J 110 35.0 61.0
A9 A2 44 V+1 &8 -650 43.0 53.0| E1 E5 24 O-1 +6 50 29.0 67.0| F2 F1 2¢ S+1 v2 110 35.0 61.0
F9 F14 44 V+1 &6 -650 43.0 53.0| C4 C2 24 0-1 ¥9 50 29.0 67.0| E6 E17 34 S= v2 110 35.0 61.0
Al0 A6 44 V+1 v9 -650 43.0 53.0| F6 F18 24 O-1 &7 50 29.0 67.0| B9 B12 2¢ S+1 v8 110 35.0 61.0
C10 Cl11 44 V+1 8 -650 43.0 53.0| C8 C5 24 O-1 &7 50 29.0 67.0| E9 E11 24 N= ¢6 110 35.0 61.0
E14 E7 44 V+1 &8 -650 43.0 53.0| B9 B12 INV-1 #J 50 29.0 67.0|B15 B6 2¢ S+1 v2 110 35.0 61.0
B15 B4 44 V+1 v2 -650 43.0 53.0| E9 El11 34 O-1 &2 50 29.0 67.0|B16 B3 3¢ S= «8 110 35.0 61.0
F18 F5 44 V+1 92 -650 43.0 53.0| A10 A6 24 V-1 o7 50 29.0 67.0|C20 C27 3¢ S= v8 110 35.0 61.0
E19 E3 44 V+1 &8 -650 43.0 53.0|C11 C12 24 O-1 +6 50 29.0 67.0| A4 A7 2NO-1 46 100 26.0 70.0
C20 C22 54 V= v9 -650 43.0 53.0 | F13 F3 14 O-1 45 50 29.0 67.0| F6 F18 2¢ S= v8 90 23.0 73.0
C3 Cl1l 44 V+2 &8 -680 12.0 84.0|B16 B3 14 O-1 v9 50 29.0 67.0|C21 C23 2¢ S= 48 90 23.0 73.0
D5 D4 44 V+2 99 -680 12.0 84.0|F16 F8 INO-1 v7 50 29.0 67.0| A9 A2 4¢S-1 v2 -50 16.0 80.0
C9 C29 44 V+2 &8 -680 12.0 84.0 | E18 E12 24 O-1 &2 50 29.0 67.0| E10 E16 24 N-1 8 -50 16.0 80.0
B12 B7 44 V+2 &6 -680 12.0 84.0| A3 A5 14 O= &7 -80 13.0 83.0(E13 E3 3¢ S-1 vT -50 16.0 80.0
Cl2 C24 54 V+1 v9 -680 12.0 84.0| F4 F15 14 O=  ¢5 -80 13.0 83.0|F16 F8 34 S-1 48 -50 16.0 80.0
Cl13 C25 44 V+2 &8 -680 12.0 84.0| B7 Bl4 14 O= +¢6 -80 13.0 83.0|C26 C9 34 N-1 +6 -50 16.0 80.0
Cl4 C23 44 V+2 8 -680 12.0 84.0|B15 B6 14 O= +¢9 -80 13.0 83.0| D2 D4 44 N-2 4Q -100 6.0 90.0
Cl5 C5 44 V+2 &8 -680 12.0 84.0 | E10 E16 2¢ V= *9 -90 8.0 838.0| C7 C22 44DN-1 vA -100 6.0 90.0
B16 B2 44 V+2 ¥9 -680 12.0 84.0| B1 B5 14 O+1 +¢5 -110 4.0 92.0| C8 C5 44DN-1 A -100 6.0 90.0
Cl6 C17 44 V+2 v9 -680 12.0 84.0| F9 F5 14 O+1 46 -110 4.0 92.0|C10 C29 34 N-2 YA -100 6.0 90.0
C26 C8 44 V+2 8 -680 12.0 84.0|B13 B8 1a O+1 45 -110 4.0 92.0|C16 C6 34DN-1 YA -100 6.0 90.0
F13 F2 6a V= v2 -1430 0.0 96.0|F14 F10 3#N-2 T -200 0.0 96.0| B7 B14 INO+1 +¢3 -120 0.0 96.0
F1 - 44.0 - F7 46.0 - F7 46.0
7 4 K32 Basta kontrakt 8 4 ED10876 Basta kontrakt 9 4874 Basta kontrakt
Syd v Kn103 4%V =-130 Vast vKD109 5¢ V =-400 Nord v4 2¢ S =90
Alla ¢ EK5432 Ingen +D9 ov ¢ EKD109
*4 % ¢ v & NT 3 & ¢ v & NT #E643 & ¢ v & NT
4Kn109654 «D N27534 a- & Kn932 N12784 «EK109  #Kn52 N57557
vKD vE972 S27535 vE32 v 64 S22784 vDKn763 vK8 S58567
¢ DKn ¢ 876 O 106 8 8 8 ¢ E10764 ¢ K82 O 11116 5 8 ¢ Kn87 42 085775
«D102 »EK987 V 106 8 8 8 #ED1054 #KKn98 V 11116 5 8 *9 #KDKng852 V 8 5 7 7 5
4 E87 4 K54 D63
v 8654 v Kn875 v E10952
+ 109 ¢ Kn53 4653
#Kn653 *762 #107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
A9 A3 3vO-3 T 300 96.0 0.0|B11 B12 24 N+1 6 140 96.0 0.0|Al10 A7 3#DO-2 vA 500 96.0 0.0
E1l E18 44 V-2 ¢A 200 91.0 50| Bl B7 14 N+1 K 110 91.0 50| D4 D1 4vV-3 +A 300 92.0 4.0
A5 A8 44 V-2 ¢A 200 91.0 5.0|A10 A7 2y N= ¢K 110 910 50| A9 A3 3#0-3 5 300 92.0 4.0
E10 E12 54 0-2 T 200 91.0 5.0|E14 E9 24 N= &K 110 91.0 5.0|B12 B13 44 V-3 ¢K 300 92.0 4.0
E13 E4 44 V-2 &4 200 91.0 5.0|C21 C27 24 N= 8 110 910 50| F4 F3 3#0-2 43 200 80.0 16.0
B2 B6 3#0-1 T 100 81.0 15.0|C15 C25 3#V-2 vK 100 86.0 10.0| D6 D5 3« 0-2 3 200 80.0 16.0
F3 F2 44 V-1 ¢A 100 81.0 15.0| B3 B5 3NO-1 &4 50 84.0 12.0|F10 F16 3#0-2 46 200 80.0 16.0
E8 E20 34 V-1 ¢A 100 81.0 15.0| C2 Cl14 2y N-1 ¢2 -50 77.0 19.0(E15 E4 34 V-2 ¢A 200 80.0 16.0
Cl7 C7 3NO-1 T 100 81.0 15.0| D6 D4 34 N-1 ¢K -50 77.0 19.0({C18 C8 34 V-2 v4 200 80.0 16.0
C26 C10 44 V-1 ¢A 100 81.0 15.0| F10 F6 34 N-1 8 -50 77.0 19.0|F18 F8 3#0-2 46 200 80.0 16.0
C28 C4 34V-1 +A 100 81.0 15.0| F16 F9 24 N-1 ¢2 -50 77.0 19.0(C22 C27 34 V-2 +¢A 200 80.0 16.0
B16 B4 2¢ N= *A 90 74.0 22.0|C18 C19 34 N-1 #K -50 77.0 19.0(C23 C13 2v V-2 +¢A 200 80.0 16.0
E7 E17 2¢ N-1 «Q -100 69.0 27.0|C28 C4 34 N-1 v6 -50 77.0 19.0(C26 Cl11 2NV-2 ¢A 200 80.0 16.0
C8 C23 3¢ N-1 A -100 69.0 27.0| E2 E6 44 N-2 +¢8 -100 61.0 35.0| E20 E9 3¢ N+1 &K 130 70.0 26.0
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B1l B12 3¢ N-1 #A -100 69.0 27.0| F7 F18 44 N-2 48 -100 61.0 35.0|B16 B5 3¢ N= «J 110 67.0 29.0
E14 E9 3¢ N-1 #A -100 69.0 27.0| C8 C23 34DN-1 ¢K -100 61.0 35.0(C21 C30 2¢ N+1 #K 110 67.0 29.0
F1 F8 3#0= ¢9 -110 51.0 45.0| E8 E20 34 N-2 «K -100 61.0 35.0| A1 A2 2vV-1 ¢A 100 58.0 38.0
B3 B5 1y O+1 T -110 51.0 45.0 | E10 E12 34 N-2 &K -100 61.0 35.0| C1 C2 340-1 3 100 58.0 38.0
D3 D5 24 V= *A -110 51.0 45.0| F13 F4 44 N-2 &K -100 61.0 35.0 A4 A6 2y V-1 ¢A 100 58.0 38.0
A4 A6 3#0= T -110 51.0 45.0|E15 E3 44 N-2 &K -100 61.0 35.0 | E11 E1 24 V-1 ¢A 100 58.0 38.0
B8 B15 2v O= v4 -110 51.0 45.0|B16 B4 44 N-2 «K -100 61.0 35.0|E16 E12 3#40-1 43 100 58.0 38.0
C9 C6 3#0= T -110 51.0 45.0|E16 E11 34 N-2 &K -100 61.0 35.0(C17 C14 2y V-1 +Q 100 58.0 38.0
F1I0 F6 3# 0= &A -110 51.0 45.0|C17 C7 4vDN-1 K -100 61.0 35.0{C28 C5 3#0-1 ¢6 100 58.0 38.0
Bl14 B9 3#0= ¢9 -110 51.0 45.0| E7 E17 3#V+l K -130 46.0 50.0| B3 B7 2¢ N= *K 90 46.0 50.0
E15 E3 3#40= T -110 51.0 45.0| C9 C6 2¢ V+2 &A -130 46.0 50.0| D3 D2 2¢ N= *K 90 46.0 50.0
F1I5 F5 3#0= T -110 51.0 45.0 | E13 E4 44 V= & A -130 46.0 50.0| B9 Bl 2¢ N= *K 90 46.0 50.0
Cl18 C19 340= T -110 51.0 45.0|B14 B9 3¢ V+1 &3 -130 46.0 50.0 | E14 E10 INN= EN 90 46.0 50.0
E19 E5 14 V+1 ¢A -110 51.0 45.0 |E19 E5 3¢ V+1 &A -130 46.0 50.0|C29 C12 2¢ N= *K 90 46.0 50.0
C21 C27 24 V= ¢A -110 51.0 45.0| Al A2 44V +1 vK -150 31.0 65.0| F2 F9 2¢ N-1 &) -50 34.0 62.0
C29 Cl11 340= T -110 51.0 45.0| E1 E18 3#V+2 K -150 31.0 65.0| E6 E19 2¢ N-1 &K -50 34.0 62.0
E2 E6 3#0+1 T -130 34.0 62.0| F1 F8 2¢ V+3 &A -150 31.0 65.0|{C10 C7 2¢ N-1 v¥K -50 34.0 62.0
B10 B13 3# O+1 T -130 34.0 62.0| B2 B6 4#V+l K -150 31.0 65.0 | E13 E5 2¢ N-1 ¥K -50 34.0 62.0
F13 F4 3#0+1 T -130 34.0 62.0| D3 D5 4+«V+l K -150 31.0 65.0| F13 F5 3¢ N-1 45 -50 34.0 62.0
Al A2 34 V= ¢A -140 19.0 77.0| A4 A6 4#V+l vK -150 31.0 65.0|C19 C20 3¢ N-1 ¥K -50 34.0 62.0
C2 Cl14 24 V+1 <A -140 19.0 77.0| A9 A3 54 N-3 YA -150 31.0 65.0 | C25 C16 3¢ N-1 42 -50 34.0 62.0
C5 C3 24 V+1l +¢K -140 19.0 77.0|B10 B13 4+ V+l K -150 31.0 65.0| E2 E18 24 0O= 6 -90 26.0 70.0
D6 D4 24 V+1 +A -140 19.0 77.0|C20 C30 4+ V+l K -150 31.0 65.0| C3 C15 3¢ N-2 #K -100 17.0 79.0
F7 F18 24 V+1 ¢A -140 19.0 77.0|C26 C10 4¢ V+1 K -150 31.0 65.0| E3 E7 3¢ N-2 K -100 17.0 79.0
Al0 A7 34 V= ¢ A -140 19.0 77.0|C12 C1 3#V+3 K -170 20.0 76.0| B4 B6 3¢ N-2 &K -100 17.0 79.0
Cl2 C1 24 V+1l <A -140 19.0 77.0| A5 A8 44DN-2 ¢2 -300 15.0 81.0| C6 C4 3NN-2 #K -100 17.0 79.0
F14 F11 24 V+1 ¢A -140 19.0 77.0| B8 B15 44DN-2 48 -300 15.0 81.0|B11 B14 2vy S-2 &9 -100 17.0 79.0
C15 C25 34 V= ¢ A -140 19.0 77.0| F15 F5 44DN-2 48 -300 15.0 81.0|F11 F7 3¢ N-2 ¥K -100 17.0 79.0
Cl16 C13 34 V= ¢A -140 19.0 77.0|C29 Cl1l1 44DN-2 v6 -300 15.0 81.0|B15 B10 3¢ N-2 ¥K -100 17.0 79.0
E16 E11 24 V+1 +A -140 19.0 77.0| C5 C3 540= K -400 8.0 88.0|F17 F1 3¢ N-2 K -100 17.0 79.0
C20 C30 34 V= +K -140 19.0 77.0|C16 C13 5& V= & A -400 8.0 88.0| B2 B8 24 V= ¢ A -110 5.0 91.0
Bl B7 2NO+1 v4 -150 5.0 91.0|C22 C24 5¢ V= vK -400 8.0 88.0| C9 C24 3#0= v2 -110 5.0 91.0
F16 F9 34 O0+2 T -150 5.0 91.0| F14 F11 5¢ V+1 &A -420 4.0 920|F15 F6 24 V= ¢ A -110 5.0 91.0
D2 D1 3¢ N-3 4Q -300 2.0 94.0| D2 D1 54DN-3 #8 -500 1.0 95.0 | E17 E8 24 V= v4 -110 5.0 91.0
C22 C24 3¢DN-2 «Q -500 0.0 96.0| F3 F2 44DN-3 v6 -500 1.0 95.0| A5 A8 3¢DN-2 #K -300 0.0 96.0
F17 - 47.8 F17 - 47.8 F14 - 36.5
10 4 Kn104 Basta kontrakt 11 a5 Basta kontrakt 12 41052 Basta kontrakt
Ost v 1064 34 S =110 Syd v KKn82 34 V =-140 Vast v EKn98 24 V =-110
Alla ¢+ D4 Ingen ¢ D872 NS ¢ K843
#EKn962 & ¢ v & NT *K954 & ¢ v & NT *97 & ¢ v & NT
4963 4D72 N9 6586 4K97643 D2 N755 45 4 EKD764 #Kn9 N57 735
vKD95 vKn732 S96586 vD1094 vE73 S85545 v K6 v 542 S57 735
¢ K86 ¢ EKn109 047 845 ¢- ¢EKKn1054 O 5 8 8 9 7 ¢+ Kn ¢ ED652 086 487
#854  #KD V47845 #Kn63 *E7 V58897 #8653 #KKn10 V86487
4 EK85 4 EKn108 483
vE8 v 65 vD1073
¢ 7532 ¢ 963 ¢ 1097
#1073 #D1082 #EDA42
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C9 C24 INV-4 «J 400 96.0 0.0| Bl Bl1ll1 64 V-4 &K 200 95.0 10| D4 D3 44 V-2 &9 100 94.0 2.0
E20 E9 3vy V-3 ¢4 300 940 2.0|E14 E11 3NO-4 #2 200 95.0 1.0|C11 C8 44 V-2 &5 100 94.0 2.0
Cl C2 INV-2 6 200 90.0 6.0| C4 C16 3NO-3 #2 150 91.0 5.0|Cl18 C15 4e V-2 &9 100 94.0 2.0
F10 F16 3v V-2 «T 200 90.0 6.0|F16 F11 4¢ O-3 ¢5 150 91.0 50| C2 C3 44V-1 3 50 75.0 21.0
C22 C27 3vy V-2 «J 200 90.0 6.0| F2 F17 3¢ O-2 v6 100 76.0 20.0| F2 F17 44 V-1 &2 50 75.0 21.0
E15 E4 24 S= ¢6 110 85.0 11.0| A10 A8 44 V-2 &5 100 76.0 20.0| A5 A7 44 V-1 &9 50 75.0 21.0
Cl8 C8 24 S= ¢6 110 85.0 11.0|C10 C13 44 V-2 +2 100 76.0 20.0| A6 Al 44 V-1 &9 50 75.0 21.0
A2 A3 3v V-1 «J 100 71.0 25.0|E12 E2 3¢ O-2 4A 100 76.0 20.0| C7 C5 4e V-1 &7 50 75.0 21.0
B3 B7 2vV-1 «J 100 71.0 25.0|E13 E6 3NO-2 8 100 76.0 20.0| A9 A4 4a V-1 &9 50 75.0 21.0
C3 C15 2¢ V-1 «J 100 71.0 250|F13 F6 2NO-2 «J 100 76.0 20.0 |E13 E6 44 V-1 &7 50 75.0 21.0
FA4 F3 3¢ O-1 «A 100 71.0 25.0|E15 E5 3¢ O-2 v6 100 76.0 20.0| E14 E11 34 V-1 &9 50 75.0 21.0
B9 Bl 2vV-1 «J 100 71.0 25.0| F15 F7 44 V-2 &5 100 76.0 200|E16 E1 34 V-1 3 50 75.0 21.0
F13 F5 2v V-1 «J 100 71.0 250|E16 E1 3NO-2 #2 100 76.0 20.0 |E17 E9 44 V-1 &9 50 75.0 21.0
B15 B10 2v V-1 #2 100 71.0 25.0|E18 E3 44 V-2 45 100 76.0 20.0| E18 E3 44 V-1 &9 50 75.0 21.0
Bi16 B5 2v V-1 «J 100 71.0 25.0|C20 C21 44 V-2 &5 100 76.0 20.0|C19 C9 4a V-1 &9 50 75.0 21.0
Cl9 C20 2v V-1 «J 100 71.0 25.0|C22 C30 2v O-2 #2 100 76.0 20.0|E19 E7 3NO-1 ¢3 50 75.0 21.0
C21 C30 2v V-1 «J 100 71.0 25.0|C28 C6 44 V-2 2 100 76.0 20.0|C20 C21 44 V-1 &2 50 75.0 21.0
C23 C13 2v V-1 ¢Q 100 71.0 25.0| B3 B9 3¢ O-1 v6 50 44.0 52.0(C23 C27 24 V-1 &9 50 75.0 21.0
C25 Cl16 2v V-1 #A 100 71.0 25.0| F3 F10 44 V-1 &5 50 44.0 520|C29 C1 34 V-1 &9 50 75.0 21.0
E6 E19 2& N= v2 90 58.0 38.0| E4 E8 3¢ O-1 ¥5 50 440 520 F5 F4 la V= *9 -80 58.0 38.0
C26 Cl11 Pass 56.0 40.0| A5 A7 INV-1 v2 50 440 520 A2 A3 24 V= *9 -110 51.0 45.0
A5 A7 2¢ O= YA 90 52.0 440 D5 D2 3NO-1 #8 50 44.0 520| B3 B9 24 V= &9 -110 51.0 45.0
F17 F1 2¢ O=  &A 90 520 440| F5 F4 2NO-1 &2 50 440 520|F13 F6 24 V= %9 -110 51.0 45.0
F18 F8 INO= *2 -90 52.0 440 A6 Al 44 V-1 &5 50 440 520 F14 Fl1 24 V= v9 -110 51.0 45.0
C6 C4 3#N-1 vJ -100 48.0 48.0| D6 D1 3NO-1 42 50 44.0 52.0|C22 C30 24 V= &9 -110 51.0 45.0
B2 B8 2v 0= &A -110 39.0 57.0| A9 A4 4a V-1 v2 50 440 52.0(C28 C6 2o V= *9 -110 51.0 45.0
E2 E18 2v V= *4 -110 39.0 57.0 | E10 E20 3NO-1 48 50 44.0 52.0| C4 C16 24 V+1 &9 -140 34.0 62.0
D6 D5 2v V= s -110 39.0 57.0| B13 B14 3¢ O-1 5 50 440 520 E4 E8 24 V+1 &9 -140 34.0 62.0
Al0 A8 2v O= &A -110 39.0 57.0| F14 F1 3¢ O-1 8 50 44.0 52.0|C10 C13 24 V+1 &7 -140 34.0 62.0
B1ll Bl14 2v V= L) -110 39.0 57.0|B16 B6 3NO-1 48 50 44.0 52.0|B13 B14 24 V+1 &9 -140 34.0 62.0
B12 B13 14 O+2 4A -110 39.0 57.0|E17 E9 3¢ O-1 A 50 44.0 52.0|E15 E5 24 V+1 &9 -140 34.0 62.0
E14 E10 2v V= a4 -110 39.0 57.0|C18 C15 44 V-1 ¢2 50 440 52.0|F15 F7 24 V+1 49 -140 34.0 62.0
Cl7 Cl14 2v V= L) -110 39.0 57.0(C19 C9 44 V-1 7 50 440 52.0(B16 B6 24 V+1 &9 -140 34.0 62.0
D3 D2 2v O+1 #A -140 17.0 79.0 | E19 E7 44 V-1 v2 50 44.0 52.0| F16 F11 24 V+1 38 -140 34.0 62.0
E3 E7 2v O+1 &A -140 17.0 79.0|C25 C17 3NO-1 &2 50 440 520|F18 F9 24 V+1l 8 -140 34.0 62.0
B4 B6 2v V+1 A -140 17.0 79.0(C29 C1 44 V-1 2 50 44.0 52.0|C24 C14 24 V+1 &9 -140 34.0 62.0
D4 D1 2v V+l #A -140 17.0 79.0|C23 C27 1¢ O+1 v6 -90 24.0 72.0|C26 Cl12 24 V+1 &9 -140 34.0 62.0
A9 A4 2vV+1 ¢ -140 17.0 79.0| B4 B8 3¢ O= 8 -110 21.0 75.0| F3 F10 24 V+2 v9 -170  19.0 77.0
Cl0 C7 2¢vV+l +¢Q -140 17.0 79.0| B5 B7 3¢ O= 48 -110 21.0 75.0| B4 B8 34 V+1 ©vA -170 19.0 77.0
E1l E1 2v O+l 4A -140 17.0 79.0|C11 C8 2NO= &2 -120 18.0 78.0 | E1I0 E20 24 V+2 v¥9 -170 19.0 77.0
F11 F7 1lv O+2 &A -140 17.0 79.0 | B12 B15 24 V+1 &5 -140 15.0 81.0|B12 B15 24 V+2 YA -170 19.0 77.0
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E13 E5 2v V+1 &2 -140 17.0 79.0|C24 C14 34 V= v2 -140 15.0 81.0| Bl Bll 44 V= +K -420 9.0 87.0
F15 F6 2v O+l K -140 17.0 79.0| A2 A3 3NO= v6 -400 7.0 89.0| B5 B7 44 V= vA -420 9.0 87.0
E16 E12 2v O+1 A -140 17.0 79.0| D4 D3 3NO= 8 -400 7.0 89.0| D6 D1 44 V= vA -420 9.0 87.0
E17 E8 2v V+1 #A -140 17.0 79.0| C7 C5 3NO= *2 -400 7.0 89.0| A10 A8 44 V= 45 -420 9.0 87.0
C28 C5 2y O+1 T -140 17.0 79.0(B10 B2 3NO= »8 -400 7.0 89.0| B10 B2 44 V= v9 -420 9.0 87.0
C29 C12 2v O+1 &A -140 17.0 79.0| F18 F9 3NO= 8 -400 7.0 89.0|C25 C17 44 V= vA -420 9.0 87.0
F2 F9 3#N-2 v7 -200 1.0 95.0(C26 Cl12 3NO= v6 -400 7.0 89.0| D5 D2 3NO+1 %4 -430 1.0 95.0
A6 Al 3#N-2 v2 -200 1.0 95.0| C2 C3 3NO+1 %2 -430 0.0 96.0 | E12 E2 3NO+1 %2 -430 1.0 95.0
F14 - 36.5 - F8 48.7 - F8 48.7
13 4873 Basta kontrakt 14 4 D10863 Basta kontrakt 15 4 E10653 Basta kontrakt
Nord v KKn8642 54 SD-2-500 Ost v KD54 3¢ OD-1100 Syd v74 5v V D -3 500
Alla + D64 Ingen +8 NS + 1096
D & ¢ v & NT #D103 & ¢ v & NT #ED2 & ¢ v & NT
« E105 a- N2 2886 a72 # EKKn5 N5 4885 a4 » KKn82 N 7 115 106
v- v D975 S22896 vKn732 v9 S548865 vE986532 vKD10 S 7 115 106
¢ EKKN97 ¢ 10532 O 11115 4 4 ¢ EKD74 ¢ 1052 078556 +D ¢ Kn83 052833
#Kn6432 #E10975 V 11115 4 4 »86 #Kn9742 V78556 10987 #654 V52833
 KDKn9642 494 « D97
vE103 vE1086 vKn
+8 + Kn963 ¢ EK7542
»K8 #EK5 #KKn3
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
B2 Bl2 44 S= ¢A 620 90.0 6.0| C5 C17 5¢DV-3 vK 500 96.0 0.0| D2 D4 44 N= vK 620 93.0 3.0
Cll Cl14 44 S= ¢A 620 90.0 6.0| B2 B12 2v N+2 &K 170 940 20| F2 F10 44 N= vQ 620 93.0 3.0
C13 C15 44 S= ¢A 620 90.0 6.0|C20 C10 44 0-3 49 150 92.0 4.0| F8 F13 44 N= vK 620 93.0 3.0
E15 E6 44 S= ¢+K 620 90.0 6.0| F4 F11 3v S= ¢K 140 84.0 12.0|C20 C17 44 N= vK 620 93.0 3.0
B16 B7 44 S= ¢A 620 90.0 6.0| E5 E9 3vS= ¢A 140 84.0 12.0|C22 C23 5vDV-3 «A 500 88.0 8.0
C18 C25 44 S= ¢A 620 90.0 6.0| F7 F13 2v N+1 A 140 84.0 12.0| A6 A8 5vDV-2 T 300 86.0 10.0
C24 C27 44 S= ¢+J 620 90.0 6.0|E15 E6 3v S= ¢A 140 84.0 12.0| D1 D5 24 N+2 K 170 84.0 12.0
Cl9 Cl6 5¢DV-2 48 500 82.0 14.0|E17 E10 3v S= ¢A 140 84.0 12.0| A3 A4 4¢ S+1 4 150 81.0 15.0
D6 D2 5¢ V-3 48 300 80.0 16.0|C19 C16 3v N= A 140 84.0 120| C4 C5 5vV-3 T 150 81.0 15.0
A3 A4 5¢ V-2 vK 200 78.0 18.0|C24 C27 2v N+1 A 140 84.0 12.0| A7 A2 34 N= vK 140 76.0 20.0
E11 E20 34 S+1 A 170 75.0 21.0|C18 C25 2NS= ¢A 120 75.0 21.0| F14 F3 34 N= vT 140 76.0 20.0
B14 B15 34 S+1 +¢A 170 75.0 21.0|C23 C30 INS+1 v2 120 75.0 21.0|C19 C25 34 N= vK 140 76.0 20.0
F15 F8 34 S= ¢A 140 69.0 27.0| C1 C26 2v S= ¢+A 110 69.0 27.0| D6 D3 2¢ S+2 vA 130 68.0 28.0
E16 E2 34 S= ¢A 140 69.0 27.0|C12 C9 2v N= A 110 69.0 27.0| E13 E8 4¢ S= vA 130 68.0 28.0
E17 E10 24 S+1 +A 140 69.0 27.0|B13 Bl 2v S= ¢A 110 69.0 27.0| E1I5 E7 2¢ S+2 vA 130 68.0 28.0
F18 F10 24 S+1 ¢A 140 69.0 27.0| F15 F8 24 N= v9 110 69.0 27.0|C28 C8 2¢ S+2 vA 130 68.0 28.0
E18 E4 24 S= ¢A 110 64.0 32.0|F17 F3 24 O-2 #A 100 64.0 32.0|C29 C3 3¢ S+1 «4 130 68.0 28.0
D1 D3 4v S-1 +A -100 44.0 52.0| F6 F5 INS= ¢ A 90 58.0 38.0| B6 B10 24 N= vK 110 59.0 37.0
El E3 3vyN-1 5 -100 44.0 52.0| A7 A2 INS-= ¢ A 90 58.0 38.0|C14 C16 2¢ S+1 vA 110 59.0 37.0
B4 B10 44 S-1 +A -100 44.0 52.0| C8 C6 INS= ¢ A 90 58.0 38.0 | E17 E11 2¢ S+1 «4 110 59.0 37.0
F4 F11 44 S-1 +K -100 44.0 52.0| A9 A5 INS-= ¢ A 90 58.0 38.0|E18 E5 2¢ S+1 T 110 59.0 37.0
B5 B9 34 S-1 +A -100 44.0 52.0 | E14 E12 INS= ¢ A 90 58.0 38.0| C1 C10 3vDV-1 T 100 50.0 46.0
D5 D4 44 S-1 +A -100 44.0 52.0| B4 B10 Pass 50.0 46.0| C6 C18 4v V-2 +6 100 50.0 46.0
ES E9 44 S-1 +A -100 44.0 52.0| A6 A8 Pass 50.0 46.0|C12 C15 4v V-2 T 100 50.0 46.0
B6 B8 2y N-1 5 -100 44.0 52.0|C28 C7 Pass 50.0 46.0|B15 Bl 4vV-2 +6 100 50.0 46.0
F6 F5 44 S-1 +A -100 44.0 52.0| B5 B9 14 N-1 v9 -50 42.0 540(C21 Cl11 4v V-2 +T 100 50.0 46.0
A7 A2 44 S-1  +A -100 44.0 52.0| D5 D4 2y N-1 &7 -50 42.0 540 E2 E4 3v V-1 +6 50 39.0 57.0
F7 F13 4v N-1 3 -100 44.0 52.0|B11 B3 3v N-1 &A -50 42.0 540( E6 E10 3v V-1 9 50 39.0 57.0
C8 C6 4y N-1 2 -100 44.0 52.0|B14 B15 INS-1 +A -50 42.0 540 A9 A5 3vy V-1 T 50 39.0 57.0
E8 E19 34 S-1 +A -100 44.0 52.0|B16 B7 24 N-1 v¥9 -50 42.0 54.0(C13 C27 2y V-1 +T 50 39.0 57.0
A9 A5 44 S-1 +A -100 44.0 52.0| D1 D3 4y S-2 48 -100 24.0 72.0|B14 B2 3v V-1 +6 50 39.0 57.0
B13 Bl 3v N-1 T -100 44.0 52.0| E1 E3 3vS-2 +A -100 24.0 72.0|F15 F9 5v V-1 &A 50 39.0 57.0
E14 E12 4v S-1 +A -100 44.0 52.0| A3 A4 3vS-2 ©vA -100 24.0 72.0| Al Al0 44 N-1 ¥K -100 22.0 74.0
F17 F3 24 S-1 +A -100 44.0 52.0| C3 C4 2y N-2 T -100 24.0 72.0| B3 B13 44 N-1 vT -100 22.0 74.0
C20 C10 4v N-1 #A -100 44.0 52.0| B6 B8 4v N-2 aA -100 24.0 72.0| F7 F6 44 N-1 vK -100 22.0 74.0
C29 C2 4y N-1 T -100 44.0 52.0| D6 D2 3NS-2 +A -100 24.0 72.0| C9 C7 44 N-1 v¥K -100 22.0 74.0
C28 C7 3¢ V= 43 -110 24.0 72.0| E7 E13 4v S-2 +A -100 24.0 72.0| E9 E19 34 N-1 ¥K -100 22.0 74.0
Cl C26 54DS-1 +A -200 18.0 78.0| E8 E19 24 N-2 v9 -100 24.0 72.0| F11 F18 44 N-1 v¥K -100 22.0 74.0
C3 C4 49y N-2 o7 -200 18.0 78.0|C11 Cl14 4v S-2 +A -100 24.0 72.0| B16 B8 44 N-1 46 -100 22.0 74.0
A6 A8 4vyDN-1 9 -200 18.0 78.0|F14 F2 4v N-2 +A -100 24.0 72.0|F16 F1 5¢ S-1 YA -100 22.0 74.0
E7 E13 44 S-2 +A -200 18.0 78.0|E16 E2 4v S-2 +A -100 24.0 72.0| F17 F4 34 N-1 vT -100 22.0 74.0
Bll B3 4v N-2 #A -200 18.0 78.0|C21 C22 4v S-2 +A -100 24.0 72.0|E20 E12 5¢ S-1 YA -100 22.0 74.0
Al A10 4vDN-2 ¢5 -500 9.0 87.0|C29 C2 3NS-2 +A -100 24.0 72.0|C24 C30 44 N-1 ¥K -100 22.0 74.0
F1 F9 54DS-2 +A -500 9.0 87.0| F1 F9 1e¢ V+2 v4 -110 9.0 87.0| B7 B9 2v V= *T -110 10.0 86.0
Cl2 C9 4vDN-2 #A -500 9.0 87.0|C13 C15 24 O+1 49 -110 9.0 87.0| E1 E14 1v O+2 +¢6 -140 7.0 89.0
C21 C22 54DS-2 +A -500 9.0 87.0| Al Al10 3#N-3 v9 -150 5.0 91.0| B5 Bl1l 3v V= *T -140 7.0 89.0
C5 C17 5¢ V= *Q -600 4.0 92.0| F18 F10 4v S-3 +A -150 5.0 91.0|B12 B4 44 N-2 vQ -200 3.0 93.0
F14 F2 54 0+1 &K -620 2.0 94.0 | E11 E20 4v S-4 46 -200 2.0 940|E16 E3 34 N-2 K -200 3.0 93.0
C23 C30 5¢DV= a7 -750 0.0 96.0 |E18 E4 4vDS-2 +A -300 0.0 96.0| C2 C26 54DN-2 v¥K -500 0.0 96.0
F16 - 51.2 F16 - 51.2 F5 - 56.2
16 4 ED9%4 Basta kontrakt 17 4 E753 Basta kontrakt 18 D7 Basta kontrakt
Vast vD2 5& VvV D -1 200 Nord v 1042 34 O =-140 Ost v 109872 3NT S =600
oV + KD876 Ingen + K843 NS + ED62
292 & ¢ v & NT *ED & ¢ v & NT *E10 & ¢ v & NT
4Kn873 46 N 3 103 108 46 « KD9842 N585 36 # 985 » KKn632 N 109 8 7 9
vEK63 v109874 S 3 103 108 vKDKn65 v93 S58536 vED654 v KKn S 109 8 6 9
¢+Kn109 ¢3 O 103 103 3 ¢E75 ¢ Kn6 075697 ¢ K7 ¢ Kn983 03456 4
«D3 #K108765 VvV 103 103 3 »7542 #KKn10 V756297 *754 *96 V34564
& K1052 «Knl0 «E104
v Kn5 v E87 v3
¢ E542 + D1092 + 1054
#EKn4 #9863 #KDKn832
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéng
B12 B4 3NV-5 +Q 500 96.0 0.0| B8 B10 INS+1 ¥5 120 96.0 0.0|E14 E2 3NN+2 43 660 96.0 0.0
F2 F10 3NS+2 3 460 93.0 30| C5 C6 340-2 +Q 100 88.0 80| E7 E11 3NS= v4 600 93.0 3.0
F17 F4 3NS+2 3 460 93.0 3.0| D6 D4 340-2 +2 100 88.0 8.0|C13 C30 3NS= v5 600 93.0 3.0
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B3 B13 44 S+1 vA 450 890 7.0| B7 B1l 24 0-2 +Q 100 880 80| D2 D1 340-4 +3 200 900 6.0
Cl19 C25 44 S+1 vA 450 890 70 A8 A3 3vV-2 ¢4 100 880 80|C10 C8B 2NS+2 ¥4 180 88.0 80
FI5 F9 3NS+1 K 430 86.0 10.0|/C13 C30 3vV-2 ¢4 100 880 80| Cl1 Ci6 3#S+3 <vA 170 86.0 10.0
D1 D5 44 S= vA 420 740 220|E20 E1 34 0-2 2 100 880 80| F4 F14 2vV-3 #A 150 810 15.0
C2 C26 44 S= vA 420 740 22.0|C21 C18 3vyV-2 3 100 880 B80|Fl16 F2 34 0O0-3 ¢3 150 810 15.0
E2 E4 44 N= 3 420 740 22.0|E17 E12 2¢ S= vK 90 80.0 16.0(C23 C24 34 O-3 ¥3 150 81.0 150
A4 A5 44 N= vT 420 740 220 F4 F14 2v V-1 #A 50 72.0 240(C28 C9 340-3 ¥3 150 81.0 150
C9 C7 44 S-= vA 420 740 22.0| B6 B12 24 O-1 +¢Q 50 72.0 240| F6 F1 2y N+1 42 140 76.0 20.0
F14 F3 44 N= &5 420 740 22.0| E7 E11 44 O-1 +¢Q 50 72.0 240| A2 A10 3#S+1 49 130 56.0 40.0
E15 E7 44 S= vA 420 740 220|C10 C8 24 O-1 ¢2 50 72.0 240| C2 Cl11 2#S+2 49 130 56.0 40.0
F16 F1 44 S= vA 420 740 220|E16 E4 24 O-1 ¢2 50 72.0 240 A4 A5 3#S+1 48 130 56.0 40.0
C20 C17 44 S= vA 420 740 220|F17 F5 24 O-1 YA 50 72.0 240| B4 B14 3#S+1 vA 130 56.0 40.0
C21 Cl11 44 S= vA 420 740 22.0|E18 E6 24 O-1 +¢Q 50 72.0 240| C7 C19 3#S+1 45 130 56.0 40.0
C22 C23 44 S= #Q 420 740 22.0| F3 F11 3¢ N-1 «K -50 60.0 36.0| A8 A3 3#S+l1 49 130 56.0 40.0
B6 B10 24 N+3 T 200 620 340 F6 Fl1 INS-1 ¥5 -50 60.0 36.0| B8 B10 2#S+2 7 130 56.0 40.0
Cl Ci10 34 S+1 vA 170 57.0 39.0(B13 B5 2¢ N-1 4K -50 60.0 36.0| E8 E15 3#S+1 45 130 56.0 40.0
D2 D4 34S+1 vA 170 57.0 39.0(E14 E2 INN-1 vK -50 60.0 36.0| F8 F7 3#S+1 &5 130 56.0 40.0
C4 C5 34S+1 vA 170 57.0 39.0(C23 C24 INS-1 vK -50 60.0 36.0| A9 A6 3#S+1 #4 130 56.0 40.0
C6 C18 24 N+2 T 170 57.0 39.0( A4 A5 3¢ N-2 4K -100 52.0 440|F13 F9 2#S+2 49 130 56.0 40.0
C28 C8 3¢ N+2 46 150 520 440| A7 Al 3¢ N-2 v¥3 -100 52.0 440|C15 C17 3#S+1 49 130 56.0 40.0
A7 Al 3¢ N+1 46 130 47.0 49.0(C22 C12 INN-2 &K -100 52.0 44.0| F15 F10 2¢ N+2 ¢J 130 56.0 40.0
F8 F13 2¢ N+2 46 130 47.0 49.0| A2 A10 24 O= ¢2 -110 35.0 61.0|B16 B9 2#S+2 49 130 56.0 40.0
Bl14 B2 3¢ N+1 46 130 470 49.0| D2 D1 2v V= *A -110 35.0 61.0|C20 C25 2#S+2 <vA 130 56.0 40.0
E17 E11 2¢ N+2 #5 130 470 49.0| D3 D5 24 O= 2 -110 35.0 61.0 | E20 E1 2#S+2 ¢K 130 56.0 40.0
E9 E19 2¢ N+1 46 110 400 56.0| E3 E5 24 O= vA -110 35.0 61.0|C22 C12 3#S+1 49 130 56.0 40.0
F11 F18 3¢ N= #5 110 40.0 56.0| B4 B14 24 O= 49 -110 35.0 61.0|C26 C3 3#S+l1 <vA 130 56.0 40.0
B15 Bl 3¢ N= &K 110 40.0 56.0| C7 C19 24 O= 9 -110 35.0 61.0|C29 C4 3#S+1 49 130 56.0 40.0
A2 Al0 44 S-1 vA -50 23.0 73.0| E8 E15 24 O= +Q -110 35.0 61.0| B6 B12 2¢ N+1 vK 110 33.0 63.0
D6 D3 44 S-1 ©vA -50 23.0 730| F8 F7 24 O= &9 -110 35.0 61.0| A7 Al 34S= #5 110 33.0 63.0
B7 B9 44 S-1 YA -50 23.0 73.0| E9 E13 24 O= v7 -110 35.0 61.0| E9 E13 1¢ N+2 42 110 33.0 63.0
F7 F6 44 S-1 ©vA -50 23.0 73.0|F15 F10 24 O= v8 -110 35.0 61.0|B13 B5 2#S+1 v4 110 33.0 63.0
A8 A3 44 S-1 vA -50 23.0 73.0|B16 B9 24 O= T -110 35.0 61.0| E3 E5 24 O-2 ¢3 100 240 720
A9 A6 44 S-1 ©vA -50 230 73.0({C26 C3 24 O= T -110 35.0 61.0| F3 F11 24 O-2 #2 100 240 720
Cl12 C15 44 S-1 +J -50 23.0 73.0|C27 Cl14 2v V= *A -110 35.0 61.0| D6 D4 24 O-2 v2 100 240 72.0
C13 C27 44 S-1 YA -50 23.0 73.0|C29 C4 24 O= ¢2 -110 35.0 61.0|E17 E12 24 O-2 #K 100 24.0 72.0
E13 E8 5¢ N-1 46 -50 23.0 73.0| Bl B2 24 O+1 &3 -140 14.0 82.0|E19 E10 24 O-2 3 100 24.0 720
Cl4 C16 44 S-1 YA -50 23.0 73.0| C2 Cl11 34 0= +Q -140 14.0 820| Bl B2 2vV-1 +A 50 12.0 84.0
B16 B8 5¢ N-1 46 -50 23.0 73.0| A9 A6 24 O+1 &9 -140 14.0 820| D3 D5 24 O-1 ¢3 50 12.0 84.0
E18 E5 44 S-1 ©vA -50 23.0 73.0|B15 B3 24 O+1 T -140 14.0 820| C5 C6 24 O-1 v3 50 12.0 84.0
E20 E12 44 S-1 YA -50 23.0 73.0|C15 C17 24 O+1 2 -140 14.0 82.0| B7 B11 24 O-1 v3 50 12.0 84.0
C24 C30 44 S-1 vK -50 23.0 73.0|F16 F2 24 O+1 +Q -140 14.0 820|E16 E4 14 O-1 &K 50 12.0 84.0
E16 E3 44 N-2 3 -100 7.0 89.0| E19 E10 24 O+1 4] -140 14.0 82.0|F17 F5 24 O-1 ¢33 50 12.0 84.0
C29 C3 44 S-2 ©vA -100 7.0 89.0|C28 C9 24 N-3 v9 -150 6.0 90.0|C27 C14 24 O-1 v3 50 12.0 84.0
B5 Bll 34 0= &2 -110 4.0 92.0|C20 C25 24 O+2 &9 -170 4.0 92.0|C21 C18 3¢ N-1 ¥vK -100 4.0 92.0
E6 E10 34 S-3 YA -150 2.0 940|F13 F9 3NS-6 K -300 2.0 94.0|B15 B3 24 O= #K -110 2.0 94.0
El E14 3vy O+1 &9 -170 0.0 96.0| C1 C16 34DO= 49 -530 0.0 96.0|E18 E6 3NS- v5 -400 0.0 96.0
F5 - 56.2 F18 - 45.0 F18 - 45.0
19 4 Kn6432 Basta kontrakt 20 4 K85 Basta kontrakt 21 4543 Basta kontrakt
Syd v 854 7v O =-2210 Vast v K92 44 V =-620 Nord v932 54 O =-450
ov 4 Kn975 Alla + 106 NS + K84
#Kn & ¢ v & NT #Kn7654 & ¢ v & NT *K763 % ¢ v & NT
4ED9 485 N31041 4ED10764 432 N62523 4KD986 4 EKn102 N32823
vEKDKNn9 v63 S31041 v 107 v E653 S6 2523 v6 v 104 S$32823
+108 ¢EKD432 O 1012139 12 +54 ¢EKDKn2 O 6 9 8 109 ¢ 652 ¢ ED97 O 10115 116
#953 #ED2 V 9 12129 12 *KD9 *32 V69 8 109 #D984  #EKn10 V 10115 116
4 K107 4Kn9 a7
v 1072 v DKn84 v EKDKn875
+6 49873 ¢ Kn103
#K108764 #E108 #52
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéng
B16 B10 4vVv-3 #J 300 960 O00|F16 F3 3v0O-2 9 200 950 10| C3 C18 2vDS= 4K 670 950 1.0
Al A4 6NV-1 #J 100 900 6.0(EI8 E7 3v0O-2 #A 200 950 1.0|C24 C2 2vDS= 46 670 950 1.0
C2 C17 6vV-1 «#J 100 900 6.0 D3 D2 3NO-1 +8 100 870 9.0 B2 B5 3vS= 46 140 89.0 7.0
D4 D1 6vV-1 #J 100 900 60| F5 F14 3¢ O-1 4J 100 87.0 90| C7 C8 3v S= 4K 140 89.0 7.0
E13 E10 4vV-1 #J 100 900 6.0| E8 E12 3¢ O-1 #A 100 870 9.0( B9 B13 3v S= 46 140 89.0 7.0
F16 F3 4vV-1 #J 100 900 6.0| F9 F8 4eV-1 &6 100 87.0 90|Cll C28 2vS+1 &K 140 890 7.0
F11 F15 3¢ O+3 &K -170 84.0 120|C11 C9 44 V-1 T 100 870 90| E9 E1 2vS= 4K 110 83.0 13.0
F5 F14 5¢ O+1 %6 -620 79.0 170|E20 E2 3¢ O-1 #A 100 87.0 9.0|C22 C25 2v S= 4K 110 83.0 13.0
C6 C7 4v V= *J -620 79.0 17.0| B8 Bl12 2¢ O= 49 -90 80.0 16.0| F8 F3 44 V-1 ¥9 50 79.0 17.0
B7 B13 4v V= *J -620 79.0 17.0| B7 B13 2¢ O+1 4] -110 78.0 180|E16 E6 44 V-1 v9 50 79.0 17.0
FO9 F8 5¢ O+1 2 -620 79.0 17.0| E4 E6 24 V+1 6 -140 76.0 200| D4 D3 2v S-1 46 -100 73.0 23.0
E4 E6 3NV+1 &4 -630 72.0 24.0|B16 B10 34 V+1 T -170 71.0 25.0| B6 Bl 4y S-1 4K -100 73.0 23.0
B5 B15 3NV+1 ¢7 -630 72.0 240|E17 E1 24 V+2 T -170 71.0 25.0|C16 C27 3v S-1 4Q -100 73.0 23.0
E15 E9 3NV+l &J -630 72.0 240|F18 F1 24 V+2 46 -170 71.0 25.0|F16 F4 4vS-1 v6 -100 73.0 23.0
Bl B4 4y V+1 &) -650 63.0 33.0|C24 C13 24 V42 oT -170 71.0 25.0| A5 A6 24 V42 v2 -170 63.0 33.0
A5 A6 4v V+1 #J -650 63.0 33.0| D6 D5 24 V+3 T -200 64.0 320| E5 E7 34 O+1 ¥9 -170 63.0 33.0
A9 A7 4v V+1 &) -650 63.0 33.0|E13 E10 24 V+3 46 -200 64.0 320| F5 F1 34 O+1 ¥vA -170  63.0 33.0
F17 F6 4y V+1 &) -650 63.0 33.0| E15 E9 34 V+2 4 -200 64.0 32.0| B8 Bl1l4 34 O+1 YA -170 63.0 33.0
E19 E11 4v V+1 #J -650 63.0 330| B2 B3 3NO= v4 -600 58.0 38.0|B10 B12 34 O+1 YA -170 63.0 33.0
C21 C25 5v V= *J -650 63.0 33.0| E5 E16 3NO= &7 -600 58.0 38.0|E18 E8 34 O+l ¥A -170 63.0 33.0
B2 B3 3NV+2 &2 -660 48.0 48.0|B14 B6 3NO= v4 -600 58.0 38.0| B3 B4 34 O+2 YA -200 47.0 49.0
E5 E16 3NO+2 6 -660 48.0 48.0| Al A4 44 V= *7 -620 51.0 45.0| A9 A7 4vDS-1 4] -200 47.0 49.0
B8 Bl2 3NO+2 6 -660 48.0 48.0| A5 A6 44 V= v2 -620 51.0 45.0| E10 E15 34 O+2 YA -200 47.0 49.0
E8 E12 3NV +2 46 -660 48.0 48.0| F17 F6 44 V= &5 -620 51.0 45.0|C12 C10 34 V+2 ¥9 -200 47.0 49.0
F13 F10 3NV +2 42 -660 48.0 48.0|C21 C25 44 V= *7 -620 51.0 45.0|F13 F11 4v S-2 &K -200 47.0 49.0
Bl4 B6 3NV+2 &2 -660 48.0 48.0| Bl B4 3NV+l1 #J -630 45.0 51.0|F14 F6 4v S-2 8 -200 47.0 49.0
Cl14 C30 3NV +2 &4 -660 48.0 48.0|C23 C1 3NV+1 &5 -630 45.0 51.0|C17 C19 34 O+2 ¥A -200 47.0 49.0
E18 E7 3NV+2 &3 -660 48.0 48.0| C2 C17 44 V+1 T -650 26.0 70.0| F17 F7 3vDS-1 4K -200 47.0 49.0
C26 C4 3NV+2 3 -660 48.0 48.0| A3 Al10 44 V+1 46 -650 26.0 70.0| E20 E3 4v S-2 4K -200 47.0 49.0
Cl6 C18 4v V+2 &J -680 38.0 58.0| C3 Cl12 44 V+1 T -650 26.0 70.0|C29 C6 34 O+2 YA -200 47.0 49.0
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C3 C12 3NV +3 43 -690 28.0 68.0| E3 El14 44 V+1 &7 -650 26.0 70.0| E2 E17 INO+4 w7 -210 36.0 60.0
E3 E14 3NO+3 &8 -690 28.0 68.0| D4 D1 44 V+1 &6 -650 26.0 70.0| A3 Al0 4e V= v9 -420 28.0 68.0
A8 A2 3NV +3 43 -690 28.0 68.0| C6 C7 4a V+1 T -650 26.0 70.0| D5 D2 44 V= v9 -420 28.0 68.0
B9 B11 3NV +3 &2 -690 28.0 68.0| A8 A2 4a V+1l &4 -650 26.0 70.0| A8 A2 44 O= vA -420 28.0 68.0
Cll1 C9 3NO+3 &7 -690 28.0 68.0| A9 A7 4a V+1 T -650 26.0 70.0 | E11 E13 44 V= v9 -420 28.0 68.0
E17 E1 3NV+3 a2 -690 28.0 68.0| B9 Bll 44 V+1 T -650 26.0 70.0 | E14 E4 44 O= vA -420 28.0 68.0
E20 E2 3NO+3 &T -690 28.0 68.0 | F13 F10 44 V+1 T -650 26.0 70.0 | C15 C30 44 O= vA -420 28.0 68.0
C24 C13 3NV +3 &2 -690 28.0 68.0|Cl14 C30 44 V+1 T -650 26.0 70.0 | F18 F2 44 O= vA -420 28.0 68.0
C29 C5 3NV+3 a2 -690 28.0 68.0|C1l6 C18 44 V+1 4 -650 26.0 70.0| Al A4 44 O+1 vA -450 11.0 85.0
D3 D2 3NO+4 &6 -720 15.0 81.0|E19 E11 44 V+1 T -650 26.0 70.0| C4 C1 44 V+1 v9 -450 11.0 85.0
C8 C20 3NO+4 6 <720 15.0 81.0|C26 C4 44 V+1 &5 -650 26.0 70.0| D6 D1 44 O+1 YA -450 11.0 85.0
F18 F1 3NO+4 48 -720 15.0 81.0|C27 C15 44 V+1 #2 -650 26.0 70.0| C9 C21 44 O+1 ¥vA -450 11.0 85.0
C22 C19 3NO+4 &7 -720 15.0 81.0|C28 C10 44 V+1 &5 -650 26.0 70.0|C13 Cl1l4 44 V+1 v9 -450 11.0 85.0
D6 D5 6¢ O= &4 -1370 9.0 87.0(C29 C5 44 V+1 T -650 26.0 70.0|B15 B7 44 V+1 v2 -450 11.0 85.0
C23 C1 64 O= 6 -1370 9.0 87.0( B5 B15 3NV +2 &J -660 4.0 92.0|B16 Bll 44 V+1 ¥9 -450 11.0 85.0
A3 Al10 6NV = 42 -1440 3.0 93.0( F7 F2 3NV+2 &5 -660 4.0 92.0|E19 E12 44 O+1 vA -450 11.0 85.0
F7 F2 6NV= 5 -1440 3.0 93.0( C8 C20 3NV +2 &5 -660 4.0 92.0|C23 C20 44 O+1 &5 -450 11.0 85.0
C27 C15 6NV = 42 -1440 3.0 93.0(F11 F15 3NV +2 &5 -660 4.0 92.0|C26 C5 44 O+1 vA -450 11.0 85.0
C28 C10 6NV = 42 -1440 3.0 93.0(C22 C19 3NV +2 &5 -660 4.0 920|F10 F9 44DO+1 vA -690 0.0 96.0
F4 - 52.5 F4 - 52.5 - F15 50.6
22 « EDKn84 Basta kontrakt 23 485 Basta kontrakt 24 4 ED1073 Basta kontrakt
Ost vE32 ANT O =-630 Syd v EK10432 INT S =2220 Vast v Kn1096 5& V =-400
ov + D73 Alla + Kn3 Ingen + 1086
»73 & ¢ v o NT #EKn4 & ¢ v o NT &E & ¢ v & NT
473 & K109 N2 2772 & Kn97 & K6432 N 1013129 13 46 & Kn5 N2 3 386
vD6 v K4 S22772 vKn9875 v- S 9 12127 13 v 872 v EKD4 S 23386
+9642 ¢ EKKn8 O 11116 6 10 + 964 + D87 030140 ¢+ ED3 ¢ K972 O 119 9 5 7
#ED862 #10954 V 11116 6 10 &75 #K10986 V30140 #976432 #KD10 vV 119 9 5 7
652 « ED10 & K9842
v Kn109875 vD6 v53
+ 105 + EK1052 ¢ Kn54
&KKn D32 #Kn85
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Cl7 C19 2NO-2 46 200 96.0 0.0({C13 C3 6NS= v9 1440 96.0 0.0(C17 C27 4vDO-3 4«4 500 96.0 0.0
B2 B5 1a N+2 ¥4 140 94.0 20| A1l A3 6y N= T 1430 92.0 4.0|C29 C7 34 N+1 vA 170 94.0 2.0
Al A3 24 N= ¢A 110 89.0 7.0 D1 D3 6v N= T 1430 92.0 40| F5 F16 5¢ O-3 ¢5 150 92.0 4.0
C7 C8 24 N= ¢K 110 89.0 7.0(B16 B12 6v N= «Q 1430 92.0 4.0 A1 A3 24 N+1 vA 140 77.0 19.0
B10 B12 24 S= ¢K 110 89.0 7.0({C17 C27 4v S+3 8 710 88.0 80| C1 C11 34 N= vA 140 77.0 19.0
Cl6 C27 24 N= ¢A 110 89.0 7.0( C1 C11 3NS+3 7 690 85.0 11.0( D1 D3 24 N+1 vA 140 77.0 19.0
A6 A7 3NO-1 42 100 84.0 120(F18 F3 3NN+3 5 690 85.0 11.0( B3 B6 34 N= vA 140 77.0 19.0
B9 B13 1a N= *A 80 82.0 140 A6 A7 4vy N+2 46 680 77.0 19.0( D6 D2 34 N= vA 140 77.0 19.0
B3 B4 3vS-1 &A -50 72.0 240| E6 E8 4v N+2 &6 680 77.0 19.0( E7 E16 24 N+1 vA 140 77.0 19.0
A4 Al0 2v S-1 &7 -50 72.0 24.0|E12 E13 4vy N+2 &6 680 77.0 19.0( B9 B15 24 N+1 vA 140 77.0 19.0
D5 D2 3v S-1 &6 -50 72.0 24.0|E17 E3 4vy N+2 &T 680 77.0 190 E1I0 E2 24 N+1 94 140 77.0 19.0
E5 E7 24 N-1 K -50 72.0 24.0|C23 C25 4v S+2 &7 680 77.0 19.0 (| B11 B13 34 N= vA 140 77.0 19.0
B6 Bl 24 N-1 +¢A -50 72.0 24.0|C24 C21 4v S+2 &7 680 77.0 19.0({C14 C15 24 N+1 vA 140 77.0 19.0
B8 Bl4 24 N-1 +¢A -50 72.0 24.0|E10 E2 3NS+2 v5 660 70.0 26.0(F15 F1 24 N+1 vA 140 77.0 19.0
E14 E4 2vS-1 +9 -50 72.0 240 A2 A5 4v S+1 &7 650 49.0 47.0|B16 B12 24 N+1 vQ 140 77.0 19.0
B15 B7 3v S-1 &A -50 72.0 240 B3 B6 4v S+1 &7 650 49.0 47.0|C18 C20 34 N= vK 140 77.0 19.0
C24 C2 24 N-1 &T -50 72.0 24.0| A4 Al10 4v S+1 &7 650 49.0 47.0|C26 C6 34 N= vA 140 77.0 19.0
A2 A5 34 N-2 ¢A -100 54.0 420| B4 B5 4v N+1 5 650 49.0 47.0| B4 B5 24 N= vA 110 57.0 39.0
E9 E1 24 N-2 +¢A -100 54.0 420| E5 E14 44 N+1 ¢7 650 49.0 47.0| B10 B14 24 N= vA 110 57.0 39.0
Cl1 C28 34 N-2 &T -100 54.0 420| D6 D2 4v N+1 46 650 49.0 47.0|C13 C3 24 N= vA 110 57.0 39.0
C13 C14 24 N-2 ¢K -100 54.0 420| B7 B2 4v S+1 &7 650 49.0 47.0| E15 E11 24 N= vA 110 57.0 39.0
F13 F11 34 N-2 +¢A -100 54.0 42.0| E7 E16 4v S+1 &5 650 49.0 470|F18 F3 24 N= «T 110 57.0 39.0
C15 C30 3vyS-2 2 -100 54.0 420| C8 C9 5v S= &7 650 49.0 47.0|C23 C25 24 N= vA 110 57.0 39.0
F16 F4 34 N-2 +¢A -100 54.0 420| A9 A8 4v S+1 &7 650 49.0 47.0|E17 E3 4vyDO-1 42 100 50.0 46.0
F17 F7 24 N-2 +¢A -100 54.0 42.0|B10 B14 4v N+1 42 650 49.0 470 C4 C19 4¢ O-1 +K 50 46.0 50.0
C22 C25 3v S-2 +9 -100 54.0 42.0|B11 B13 4v N+1 &8 650 49.0 470 F9 F4 INO-1 «4 50 46.0 50.0
E16 E6 3¢ O= a2 -110 44.0 52.0| F11 F10 4v N+1 8 650 49.0 47.0|C16 C30 5#V-1 8 50 46.0 50.0
C26 C5 2NO= vJ -120 41.0 55.0|C12 C28 4v S+1 &7 650 49.0 470| C5 C2 34 N-1 &K -50 35.0 61.0
C29 C6 2NO= vJ -120 41.0 55.0 | F14 F7 4vy S+1 ¢7 650 49.0 470| C8 C9 34 N-1 &K -50 35.0 61.0
E2 E17 34V +1 48 -130 29.0 67.0|E15 E11 4v S+1 &5 650 49.0 47.0| E9 E18 34 N-1 vA -50 35.0 61.0
C3 C18 3V +1 4A -130 29.0 67.0|C16 C30 4v S+1 &5 650 49.0 47.0|C10 C22 34 N-1 ¥vA -50 35.0 61.0
F5 F1 4¢ O= vJ -130 29.0 67.0|C18 C20 4v N+1 44 650 49.0 47.0| F11 F10 44 N-1 ¥vA -50 35.0 61.0
C9 C21 3¢ O+1 46 -130 29.0 67.0|E19 E1 4vy S+1 &7 650 49.0 47.0|C12 C28 34 N-1 &K -50 35.0 61.0
E10 E15 3¢ O+1 46 -130 29.0 67.0|C29 C7 4vy S+1 ¢9 650 49.0 470|F14 F7 34 N-1 ¥vA -50 35.0 61.0
F10 F9 2#V+2 ¢3 -130 29.0 670 F9 F4 3NS+1 5 630 27.0 69.0| E19 E1 24 N-1 YA -50 35.0 61.0
F14 F6 3#O0+1 vJ -130 29.0 67.0|F17 F8 3NS+1 5 630 27.0 69.0| E6 E8 1v O= a4 -80 26.0 70.0
E18 E8 3¢ O+1 42 -130 29.0 67.0| C4 C19 4v S= &5 620 22.0 740|(F17 F8 INO= a2 -90 24.0 72.0
F18 F2 3¢ O+1 46 -130 29.0 67.0| F6 F2 4v N= 7 620 22.0 740 D5 D4 44DN-1 vA -100 21.0 75.0
C23 C20 3#V+1l &A -130 29.0 67.0|C14 C15 4v S= &7 620 22.0 740 A6 A7 44DN-1 vA -100 21.0 75.0
D4 D3 3« O+2 46 -150 12.0 84.0| B1 B8 3NS= v5 600 16.0 80.0| A9 A8 4&V= vJ -130 16.0 80.0
F8 F3 24 N-3 +¢A -150 12.0 84.0| D5 D4 3NS= v5 600 16.0 80.0 E20 E4 3&V+1 v9 -130 16.0 80.0
A9 A8 3#0+2 v -150 12.0 84.0|E20 E4 3NS= v5 600 16.0 80.0(C24 C21 44 V= vJ -130 16.0 80.0
E11 E13 34 N-3 +A -150 12.0 84.0| E9 E18 2y N+4 &T 230 12.0 84.0 A4 Al10 44V +1 &A -150 9.0 87.0
C12 C10 3¢ O+2 46 -150 12.0 84.0| C5 C2 6vy S-1 &7 -100 5.0 91.0| E5 E14 2NV+1 T -150 9.0 87.0
E19 E12 3¢ O+2 vJ -150 12.0 84.0| F5 F16 6v S-1 %6 -100 5.0 91.0| F6 F2 44V +1l &A -150 9.0 87.0
E20 E3 2NO+1 v7 -150 12.0 84.0| B9 B15 6v S-1 &7 -100 5.0 91.0| B7 B2 44 V+l &A -150 9.0 87.0
B16 Bll 2NV +2 4] -180 4.0 92.0|C10 C22 6vy S-1 &7 -100 5.0 91.0| B1 B8 1lv O+3 48 -170 2.0 94.0
C4 Cl 34DN-2 ¢K 300 2.0 940|F15 F1 6y N-1 &7 -100 5.0 91.0| A2 A5 3v O+1 #4 -170 2.0 94.0
D6 D1 3NO+2 vJ 660 0.0 96.0|C26 C6 6v S-1 &7 -100 5.0 91.0|E12 E13 3v O+1 48 -170 2.0 94.0
- F15 50.6 - F13 42.3 - F13 42.3
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